—_—_ > > = E TH ZIE; S = E - r ZIFERTE :,ﬂ zr s B
202058 S AT kS B R R CETTE ey i .. S
4 A AT EZ = 54 ETIEI EXH = 68 i EZ 5 = 7H 5 =18 = 8H ETIE| E3 = 9H & EZ =
EFE =R [hE LEERE S| EE BRI BRIt s LEEGE S EEED HiLEE EE E=E LEEGENE] EEED B D ##HE$IE EERE:R ERICEE LEEGENE]
[ ES il B [l ES 1]+ [ EZS XANETE 1| £
218 2 |k 2 | £ B 2| B8 2 11K XANEE 2 | £
3 |iK 3| K 3| £ MK 3 1A 3 |k XANEE 3| H
4 | K 4 | K 4 |1 H B 4 | K 4 | & XANETE 4| A
5 | {& 5 | K 5 | & 5 | K 5 | £ XAETE 5 | &
6 | IR 6 | £ 6 | N 6 | K 6 | H 6 | K
7 |4k 718 7 | K 711 %& 7 | K 71K
8 | 8| H 8 | K 8 | - 8 | &k 8 | &
9| H 9 | K 9 | £ 9 | H HES 9 | + WCHIE 538
10] B 10 | Jk 10] £ 10| B 10 | & 0] B WCH X 52
11| K 11| & 11] 8 11k 11 ] K 11| A
12 | K 12| £ 12| A 12| K 12| £ 12| K
RES 13| £ Hh X 4K | 13 ] BRI EE [RES 13| B 13| 7K
14| £ 14| B #X K 14 | K FIHhRIEE 14| & 14 | &k 14| K
15| & 15 | 4k 15| K FIhREE 15| = 15 | 1k 15| £
16| B 16 | 16| & 16| B 16 | 1K 16| £
17| B 17 | 5k 17] £ 17 | & 171 K 171 B
18 | 18] K 18] B 18] & 18| & 18 | 1k
19 | 7K 19| £ 191 B 19 ] 5K 19| £ 19| Kk
20 | K 20| £ 20 | 20 | 1k 20| B 20 | K
21| & BH S TN 21| B 21] K 21 | 4K 21| A 21| K BIFEE
22| £ BHEHH 221 A 22| K 2] 22 | K 2| £ BIHREE
23| B EHE T 23 | &k 23| £ 23| B 23 | K 23| =
24| B 24 | K 24| = 24 | 1k 24| K 24| B
25| X 25| K 251 8 25 | 1K 25| & IS 25| B BIEREE
26 | 7K 26| & 26| B 26 | 1A 26| & LR E 26 | & BIHHREE
27| K 27| £ 271 & 27| 1K 27| B IS 27| K
28| £ 28| H 28 | 7K 28 | 1K 28 | & RS 28 | K
2| £ PTA#R S 29| B 29| K 29] = 29 | Ik 1K 2| &
30| B 30| & A E3 30| A8 30 | K 0f+
31| 7k 31| K 31| K
EHE S FHE =& EHE EiE FHE =& FHE E#E FE S
HHKEH 3 0 EHAEH 4 0 EHAEH 9 0 HHKEH P 0 HHREH 5 0 HHIKEH 9 0
KEREH 4 0 RBEAREH 1 0 AHAZEH 5 0 AB#*R=EH 8 0 AHAZEH 8 0 AE#R=EH 5 0
T RS T 2.1 #DIV/0! T EB R T Y 2.0 #DIV/0! T RS T 26 #DIV/0! T B E B R T 2.0 #DIV/0! T HEB R T 1.9 #DIV/0! T RS T 2.2 #DIV,/0!
A B E B SR Y 35 #DIV/0! K B SE EpBE RS P 1 43 #DIV,/0! N RS 5.8 #DIV/0! KB E B R 1 35 #DIV,/0! R B E B RS R 1 5.1 #DIV/0! A B R B R 1 5.3 #DIV/0!
108 FHE EiE — 11A EHE ESE S 12H FHE S . 1R FHE £ S 28 S g 3A FHE £ S
I 5] FEFR B[] EGIEETE HEEHR B 5] FEFR B EGIEEE HIEHR BE B (&R e E] e M FERKER
1|8 1] K 114K [HES 1 ETEl
2 | B 2 | K 2 | &k 2 | & 2
3 [ 3 [ 4k 3 [k 3 [+ 3 60
4 |k 4|+ X H A 4 | & 41H 4
5 | K 5| H HMEHA 5 | K 51 A 5 e
6 | £ 6 | 1k 6|+ 6 | X 6
A 7 | & AE 7 | K 7 0
8| B 8 | Kk 8 | & 8 | K 8 |
9 ik 9 | K 9 | & HES 9 | £+ KBARER
10| X 10| £ 10 | /K 10| + 10| H ETE
11| 7k 11+ 11| & 11] B 11 | 4
12] & 2] 8 12| % 12 | & AL 65
13| £ 13| A 13] £ EHA 13| X 13| 1K
14| £ 14| & 14| B BEA 14| 7K HHBRES 14| K e
15| H 15 | 7K 15| B 15 | & SRR ES 15 | 1K
6] B 16| & 16| % 6] & awm=zs| |[16] £ 0
17 | X 17| & 17| K 17| 17| B
18 | K 18] £ 18| K 18| H 18| B
19 | K 19] B 19| £ 19| A EHIMRES 19 | K KREHESE
20| % 20| A 20| + 20 | & 20 [ K ETE
21| £ WCIE F:E] 21| 211 8 21| k 21| K
2|8 woEFE| [22[k 2| A 2| & 2|2 125
23| H 23| 1K 23| & 23 | K 23 £
24 | 24| & 24 | K 24| = 24| 8 B F=RAE Ed
25 | K 25| & 25| K 251 8 25 | & B BLRE
26 | K 26| B 26| & 26| A 26 | 1K B F=RAE O
21| & 27| A 27| + 27| X AR REl SRR |
28| + WCIE F5& 28 | i AP RER 28] A 28 | JK 28 | & EESd
29| H WCIE %% 29 | & HHRRES HEFRRE 29| A 29 | K 29 | &
30| B 30| 7 # R AR EFRAE 30) ] 15 30|
UL 15 B |l —— 3ifoxk] 25 g | | | 31| A
ESE ETIE| ES ES STIH ES
1 H 1 0 THAREH 8 0 THAEH 3 0 THAZEH 10 FHAZEH 3 0
AB1 0 RHAZEH 6 0 RHAZEH 5 0 AHKXZEH 7 AHRZEH 10 0
T HEBERT Y 20 #DIV/0! T EB AT 2.1 #DIV/0! T HEBER T 2.0 #DIV/0! T B EB R 2.0 #DIV/0! T HEBER T Y 1.8 #DIV/0! THEBERT Y 1.9 #DIV/0!
KB EE BRI Y 55 #DIV/0! R BB R 1 5.3 #DIV/0! KB EE SR 1Y 44 #DIV/0! KB EERERT LY 45 #DIV/0! KB EEEERT T 35 #DIV/0! A B E B BRI Y 5.1 #DIV/0!




